[ Efficiency vs vertpos |

YU (S U 6 0 U0 U U U GRS © T 1 B 6 4 SR 4----

<+ .

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT_ MODIFIED_propToPlane_PRVersionFINAL2

~N 1.2

TR S S

efficiency vs ver

o =0 ; i

I F ] i

x 1:— ------------- TWIve 1 TN » -------
| SR S : S
0935 =56 10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
0.0.18f¢
= o
#0.16
£0.14F
oy o
c0.12F
0.1
0.08F
0.06F

0.04F

e

effic

o . b
E 1055— ---- P R :- 5 : .. :, _____
| SR gHN HH- i
0.95F----f e i bR B - F -
05515 =10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


